
Practice	Paper:	Arithmetic A4

Copyright	2016	Emaths	|	www.emaths.co.uk	|	For	Free	Educational	Use	Only



Key	Stage	2	National	Curriculum	Tests	-	Practice	Paper	-	Arithmetic

Copyright	2016	Emaths	|	www.emaths.co.uk	|	For	Free	Educational	Use	Only



A4
Key	Stage	2	National	Curriculum	Tests	-	Practice	Paper	-	Arithmetic

1,921 + 100 =

326 × 2 =

6.2 + 0.7 =
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57 × 2 =

5,434 + 418 =

48 ÷ 6 =
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423 − 8 =

2.1 + 0.05 =

4 × 3 × 7 =
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320 ÷ 8 =

1.71 × 100 =
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540 ÷ 6 =

20% of 1,900 =

2.21 × 3 =
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5,436 + 7,233 =

5,555 ÷ 5 =
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11 − 9.04 =

39
× 27

Show
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13.5 − 4.28 =
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85% of 380 =
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765,234 − 76,549 =
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25 − 3 × 4 =
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